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1. Obtener	la	integral	de	Fourier	trigonométrica	de	la	función	

݂ሺݐሻ ൌ ݇ሾܪሺݐሻ െ ݐሺܪ െ ܽሻሿ	

	 donde	݇ ് 0	y	ܽ ൐ 0.	

 

2. Obtener	la	integral	de	Fourier	trigonométrica	de	la	función	

݂ሺݐሻ ൌ ൝	
0 		si ݐ															 ൏ െܽ
2 		si െܽ ൑ ݐ ൑ ܽ
0 		si ݐ												 ൐ ܽ

	

donde	ܽ ൐ 0.	Escribir	la	forma	de	la	integral	cuando	

a) ܽ ൌ 1.	

b) ܽ ൌ 	.ߨ

 

3. Obtener	la	integral	de	Fourier	trigonométrica	de	la	función	

݂ሺݐሻ ൌ ൜	ݐ
ଷ 		si |ݐ| ൏ ܽ
0 		si |ݐ| ൒ ܽ

	

donde	ܽ ൐ 0.	Escribir	la	forma	de	la	integral	cuando	

a) ܽ ൌ 1.	

b) ܽ ൌ 	.ߨ

 

4. Obtener	la	integral	de	Fourier	trigonométrica	de	la	función	

݂ሺݐሻ ൌ ൝	
0 		si ݐ															 ൏ െܽ
ݐ݇ 		si െܽ ൑ ݐ ൑ ܽ
0 		si ݐ												 ൐ ܽ

	

	 donde	݇ ് 0	y	ܽ ൐ 0.	Determinar	la	función	a	la	que	converge.	

 

5. Obtener	la	integral	de	Fourier	en	cosenos	de	la	función	

݂ሺݐሻ ൌ ቄ	1 si 0 ൑ ݐ ൏ ܽ
0 si ݐ								 ൒ ܽ

	

donde	ܽ ൐ 0.	Escribir	la	integral	de	Fourier	en	cosenos	de	la	función	cuando	

a) ܽ ൌ 1.	

b) ܽ ൌ 	.ߨ

 

6. Obtener	la	integral	seno	de	Fourier	de	la	función	

݂ሺݐሻ ൌ ൜	ݐ
ଶ si 0 ൑ ݐ ൏ ܽ
0 si ݐ								 ൒ ܽ

	



donde	ܽ ൐ 0.	Escribir	la	integral	seno	de	Fourier	de	la	función	cuando	ܽ ൌ 	.ߨ

 

7. Dibujar,	en	el	intervalo	ሺെ∞,∞ሻ,	las	gráficas	de	las	funciones	a	las	que	convergen	las	

integrales	de	Fourier	en	senos	y	cosenos	de	la	función	

݂ሺݐሻ ൌ ቄ	1 si 0 ൑ ݐ ൏ 1
0 si ݐ								 ൒ 1

	

	 No	es	necesario	obtener	las	correspondientes	integrales	de	Fourier.	

 

8. Obtener	la	integral	compleja	de	Fourier	de	la	función	

݂ሺݐሻ ൌ ൝	
0 		si ݐ																 ൏ െܽ
2 		si െܽ ൑ ݐ ൑ 0
0 		si ݐ												 ൐ 0

	

donde	ܽ ൐ 0.	Escribir	la	integral	de	Fourier	de	la	función	cuando	

a) ܽ ൌ 1.	

b) ܽ ൌ 	.ߨ

 

9. Obtener	la	integral	compleja	de	Fourier	de	la	función	

݂ሺݐሻ ൌ ൝	
0 		si ݐ																	 ൏ െܽ
ݐ݇ 		si െܽ ൑ ݐ ൑ 0
0 		si ݐ												 ൐ 0

	

donde	݇ ് 0	y	ܽ ൐ 0.	Escribir	la	integral	de	Fourier	de	la	función	cuando	

a) ݇ ൌ െ1	y	ܽ ൌ 1.	

b) ݇ ൌ െ1	y	ܽ ൌ 	.ߨ

c) ݇ ൌ ܽ.	

 

10. Obtener	la	integral	compleja	de	Fourier	de	la	función	

݂ሺݐሻ ൌ ൝	
0 		si ݐ																 ൏ െ1

െݐߨଶ 		si െ1 ൑ ݐ ൑ 0
0 		si ݐ												 ൐ 0

	

 

	


